
Additions.Additions.Additions.Additions.    

• Voici quatre façons différentes de résoudre le même calcul.  
• A toi d’imiter 

 A toi, résous des quatre façons :  
              45 + 39    et     38 + 53 

47 + 26 = (47 + 20 ) + 6 = 67 + 6 = 73 45 + 39 = ( … + … ) + … = … + … = 84 
 
38 + 53 = ( … + … ) + … = … + … = 91 
 

47 + 26 = ( 40 + 20 )+ ( 7 + 6 ) = 60 + 13 = 73 45 + 39 = ( … + … ) + ( … + … ) =  … + … = 84 
 
38 + 53 = ( … + … ) + ( … + … ) =  … + … = 91 

47 + 26 = ( 40 + 26 ) + 7 = 66 + 7 = 73 45 + 39 = ( … + … ) + … = … + … = 84 
 
38 + 53 = ( … + … ) + … = … + … = 91 
 

47 + 26 = ( 47 + 3 ) + 23 = 50 + 23 = 73 45 + 39 = ( … + … ) + … = … + … = 84 
 
38 + 53 = ( … + … ) + … = … + … = 91 
 


